
 
Unit 6 Grammar: Longman  

1. I’m ____ to go to the cinema.  
a.  too busy b.  busy enough c.  so busy d.  such a busy 

2. My brother is careful ____ to avoid making silly mistakes.  
a.  too b.  enough c.  so d.  such 

3. They are ____ thrilling short stories that I read them twice.  
a.  too b.  so c.  such a d.  such 

4. Are you ____ to do this job?  
a.  experienced enough b.  too experienced c.  enough experienced d.  no experienced 

5. It was ____ nice weather that we spent all day on the beach.  
a.  too b.  so c.  such d.  such a 

6. I can’t carry the box. It is too heavy to ____.  
a.  be carrying it b.  be carrying c.  carry it d.  carry 

7. The party was interesting. It’s ____ pity that you didn’t join us.  
a.  too b.  so c.  such d.  such a 

8. Why couldn’t you solve the problem? – Because it was ____ complicated.  
a.  not b.  enough c.  such a d.  too 

9. The sea is ____ that you can’t swim in.  
a.  such cold b.  cold enough c.  so cold d.  too cold 

10. One is never ____ to learn.  
a.  too old b.  old enough c.  such an old d.  so old 

11. That coin is ____ to be kept in the museum.  
a.  so old b.  old enough c.  such an old d.  as old 

12. Mr. Amin is ____ honest man that all people respect him.  
a.  so b.  too c.  such an d.  such a 

13. I’m sorry. I don’t have ____ money to help you.  
a.  too b.  enough c.  such d.  so 

14. The lesson is too difficult for me to understand. This means that it is ____. 

 a.  so difficult, but I can understand it 

 b.  so difficult, so I can’t understand it 

 c.  such a difficult one, but I can understand it 

 d.  not such a difficult one that I can understand it 

15. Why didn’t you attend the party?          – Because I was ____.  
a.  so busy b.  as busy c.  not busy d.  such a busy 
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